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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iit)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

61/6/2

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — questions number 31 to 33 are Source-based questions having
three
sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :
Assertion (A) : In ancient India, Gotra system was a way to trace lineage.

Reason (R):  Gotra was an exogamous unit, marriage within the same
Gotra was not allowed.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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(B) g« fuees, AAfraw e, fomr e

(C)  HANHISTHT, HETSITT, STcfsh FHeT(l

(D) ITeE 9, g fuesh, foma fuesh

TETYRd O Geiferd &9 [ o1 &9 11 9 T Hifsie 3t et faere o1 = ifsie |

&y ] @y 1l
(¥) ()
a. BT i. giea Y qrar
b. gaTe ii. T ehY Hrar
c. ol iii. qiSal 1 SIS I
d. Ty iv. g o fuar
IEETR IR
(A)  a-ii, b-iv, c-iii, d-i (B)  a-iv, b-iii, c-ii, d-i
(C)  a-iii, b-iv, c-i, d-ii (D)  a-i, biii, c-iv, d-ii

= few mu fomr o g 1, sranes &y 1 fiwefiv el fRua 2 2

(B) HIH™
(D) IR

D
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2. Who among the following was an ex-army Brigadier and Director General
of the Archaeological Survey of India in 1944 ?

(A) John Marshall (B) R.E.M. Wheeler
(C) Alexander Cunningham (D) S.N. Roy

3. Find the odd one out from the following regarding the Buddhist texts :
(A) Dipavamsa, Mahavamsa, Sutta Pitaka
(B)  Sutta Pitaka, Abhidhamma Pitaka, Vinaya Pitaka
(C) Ashokavadana, Mahavamsa, Jatakas
(D) Uttaradhyayana Sutta, Sutta Pitaka, Vinaya Pitaka

4. Match Column I with Column II and choose the correct option with
reference to Mahabharata.
Column I Column II
(Character) (Role)
a. Yudhisthira i.  Mother of the Pandavas
b. Dhritarashtra ii. Mother of the Kauravas
c. Kunti iii. Eldest of the Pandavas
d. Gandhari iv. Father of Duryodhana
Options :
(A)  a-ii, b-iv, c-iii, d-i (B)  a-iv, b-iii, c-ii, d-i
(C) a-iii, b-iv, c-i, d-ii (D)  a-i, b-iii, c-iv, d-ii
5. In reference to the picture provided below, where is the lion capital of the
Ashoka Pillar located ?

(A) Lumbini (B) Sarnath
(C) Bodh Gaya (D) Kushinagar

61/6/2 Page 5 of 23 P.T.O.

&




X e KX
T :  FHERTRIA Yo7 Fa GIEaTierd qReTiea & 1o7q J97 G915 % T W e |

famatafad 9 9 forg TsTesT O TSIT 372Teh AT Gsiey o7 2
(A) T (B) WX

N

(C) wrqdred (D) A<

6. TAmfaRad STHRT h GerAT ¥ YT WA o I8 hi e= hifeTy ;

o I YTHH H HeTH TR T |
o T eIl IR HEHA TG T TL&TH o |

o 3G T I AT oh S AT 9 |

ﬁﬁﬁq :
(A) == (B)  EHT
(C) st (D) HHTTA

D D D

7. A IS foh ST ferelt HureTerd | ST € 37T SATIeh! sguT ohl qed fHerd! € o ot weh
T T o0 | S BTt Y WIS AT TTRAl 3 SR o Ut SetdT § 2

(A) S i AT o [eTT HEwqUl AT ST o |

(B) Al o6l Helel STHM o €19 G 4 T |

(C) oAl ! & T Tcfloh HET SITAT T |
(D) ST 3T TART Y & FoRAT STTaT o |

8. et A “fATur wiferd” wx ot T | shefit shl SAreAticnsh Wil o S H 98 SR
ERICNICIES

(A) 3T ST U ST $3e H foreeme Td 9 |
(B) 3= ATSHI R AHRIE o e T et faaT |

(C) 38 SR SR AT o Sfi < U TRTshIHe Helel hl WA |

(D) o $3eRY UehaT | favam@ T@d 9 |

61/6/2 Page 6 of 23

&




X e KX

Note : The following question is for Visually Impaired Candidates only, in lieu of
Q. no. 5.

Which of the following dynasties did King Ashoka belong to ?
(A)  Gupta (B) Maurya
(C) Satavahana (D) Nanda

6. Identify the ruler of ancient India with the help of following information :

e He was the most powerful of the Gupta rulers.
e He was a patron of art and Sanskrit literature.

e He was considered equal to the Gods by his people.

Options :
(A) Chandragupta (B) Samudragupta
(C)  Srigupta (D) Kumaragupta
7. Assume you visit a museum and find a Harappan seal depicting a bull.

What might this suggest about Harappan beliefs and practices ?
(A)  Bulls were considered important for protection.

(B)  Bulls were associated with warfare with Oman.

(C)  Bulls were considered as the symbol of wealth.

(D)  Bulls were usually used in agriculture.

8. Kabir emphasized ‘Nirguna Bhakti’. What does this concept imply about

Kabir’s spiritual beliefs ?

(A)  He believed in a personal God with attributes.

(B) He emphasized the importance of rituals and ceremonies.

(C) He advocated for a hierarchical relation between God and humans.

(D) He believed in the oneness of God.
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(A)  a-iv, b-iii, c-ii, d-i (B)  a-ii, b-iii, c-i, d-iv
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(A) I TSR aTHTSY 1 faedr foha |
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III. R H o7 STl ol A
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A  LILIV,III B) I, LILIV
(© IV, IILILI (D) ILILIV,ILI
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9. Which of the following is the correct statement regarding Vijayanagara
Empire ?

(A)  The Vijayanagara Empire was founded by Harihara in the 132 century.
(B) Vijayanagara was the name of both, city and empire.

(C)  The empire stretched between rivers Kaveri and Tungabhadra.

(D) Vijayanagara fell to ruins in the 15t century.

10. Match Column I with Column II and choose the correct option.

Column I Column II
(Community during Mughal Empire) (Role)
a. Muzarian 1. Accountant
b. Patwari ii. Peasant
c. Majur iii. Labourer
d. Shroff iv. Banker
Options :
(A)  a-iv, b-iii, c-ii, d-i (B)  a-ii, b-iii, c-i, d-iv
(C)  a-ii, b-i, c-iii, d-iv (D)  a-i, b-iii, c-ii, d-iv

11.  Which of the following is the most important contribution of Krishnadeva
Raya ?

(A) He expanded the Vijayanagara Empire.
(B) He subdued the Mughal rulers.

(C)  He kept the military control flexible.
(D)  He built the Thanjavur temple.

12. Arrange the following in chronological order and choose the correct
option :
I Visit of Francois Bernier in India
II. Visit of Abd al-Razzaq in India
ITII.  Visit of Ibn Battuta in India
IV. Visit of Al-Biruni in India

Options :
(A  LILIV,III (B) II,LIIL IV
© IV, ILILI (D) IILIV,ILI
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o SIqalT A W Y Rl STcAfreh IcuTash 1 il 2
frefeiad # & FETogea o i Te= HIfT ;
(A) It A hIST shi Helt

(B) T AR gwelt forarm

(C)  qrad ot R firgt it ore

(D) 3T, gt SR g yorredt

frfaiftad 5 € SIH-61 1859 T SHUSI ST TR GRETHA T 3 STae™ 781 o ?
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(A) TYMERHEA B) folSmws

(©) (D) G fEi7

(=N
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Who among the following was the mentor of Amir Khusrau ?
(A) Khwaja Muinuddin Chishti

(B)  Shaikh Nizamuddin Auliya

(C)  Shaikh Salim Chishti

(D)  Shaikh Fariduddin Ganj-i Shakar

Why did Ibn Battuta find Indian agriculture very productive ?
Identify the most appropriate reason from the following :

(A)  Lack of pests and insects

(B)  Skilled and experienced farmers

(C)  Year round rainfall and soil quality

(D)  Fertile soil and irrigation system

>

Which of the following was not the provision of the ‘Limitation Law
passed by the British in 1859 ?

(A)  The loan bonds signed between the money-lenders and ryots would
have validity of three years.

(B) The law was to check the accumulation of interest over time.

(C) The money-lenders and ryots used to renew the bonds after every
three years.

(D) Ryots were given permanent stakes in land as interlopers.

Why were the British keen to annex the territory of Awadh ? Choose the
correct option from the following :

(A)  To suppress the nationalist movement in Awadh.
(B) To get access to Awadh’s rich resources.
(C)  To strengthen their control in the west in India.

(D) To enhance British military control in Central India.

From the following identify, the local leader of Singhbhum who led the
cultivators to join the Revolt of 1857.

(A) Shah Mal (B) Birjis Qadr
© Gonoo (D) Kunwar Singh
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(A)  a-iii, bii, c-iv, d-i (B) a-iv, b-iii, c-i, d-ii
(C)  a-iii, b-iv, c-ii, d-i (D)  a-iv, b-ii, c-iii, d-i
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A) IO s % fag (B) IS & €Y o forg
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(A)  fdTuER (B) e ST AT
(C)  gfwdt fdre (D) fieEsfearuse

frfafaa 9 9 i g i aaresr gfufa s IarsT 9 2

(A) TERUH (B) SO I8®

(C) Shatda (D) TIIITeT ST TTRET
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Match Column I with Column II and choose the correct option.

Column 1 Column I1

(International Leaders) (Role )
a. Ho Chi Minh 1. American war of independence
b. J.M. Garibaldi ii. British withdrawal from India
c. George Washington 1ii. The unification of Italy
d. Clement Attlee iv. Struggle to free Vietnam
Options :
(A)  a-iii, bii, c-iv, d-i (B) a-iv, b-iii, c-i, d-ii
(C)  a-iii, b-iv, c-ii, d-i (D)  a-iv, b-ii, c-iii, d-i

Why was the 1929 Lahore Session of Congress significant ? Choose the

correct option from the following :
(A)  For Purna Swaraj (B) For British alliance

(C)  For Gandhiji’s leadership (D)  For Rowlatt Act

Fill in the blank with the appropriate option from the following :

The was established by the British government in 1875 to
investigate the economic distress and role of East India Company in
Bombay and the Deccan.

(A)  Regulating Act (B)  Deccan Riots Commission

(C)  Fifth Report (D)  Pitts India Act

Who amongst the following was the leader of the Advisory Committee of
the Constituent Assembly ?

(A) Sardar Patel (B) Jawaharlal Nehru

(C) G.B.Pant (D)  Gopal Krishna Gokhale
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Y ST AT | 4+2+2=8

Page 14 of 23




X e KX

SECTION B

(Short-Answer Type Questions) 6x3=18

22. (a) “Mahabharata explores a variety of themes.” Examine the
statement. 3

OR

(b)  “Historians analyze the Mahabharata as a text by considering
various elements.” Examine the statement. 3
23. Explain the views of historians on Harappan agriculture. 3

24, (a) Examine the duties to be performed by Kshatriyas as codified in
Dharmasutras and Dharmashastras in the ancient India. 3

OR

(b) Examine any three ways evolved by Brahmanas to enforce the

norms of the Varna order in the ancient India. 3

25. “The Virupaksha Temple of the Vijayanagara empire was known for its
unique architecture.” Explain the statement with examples. 3

26. “Gandhiji’'s Non-Cooperation Movement was positive and highly
effective.” Examine the statement. 3

27. Why was there a panic in the cotton circles of Britain over the American
Civil War ? Explain. 3

SECTION C
(Long-Answer Type Questions) 3Ix8=24

28. (a) Explain the growth of Buddhism during the ancient period.
Explain the role of Begums of Bhopal in conserving the Buddhist

ancient site of Sanchi. 4+4=8
OR
(b)  Explain the significance of stupas in Buddhism and explain why
and how the stupas were built. 4+2+2=8
61/6/2 Page 15 of 23 P.T.O.
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(31.3) 3@ oht Wldfsham bl et i forer JerR fcifoiford et & 2 2
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29.

30.

31.

X e KX

(a)  Describe the views of the members of the Constituent Assembly on
division of powers between the Centre and the States.
OR

(b)  Describe the ideals expressed in the ‘Objectives Resolution’ by
Jawaharlal Nehru in the Constituent Assembly.

(a) “The role of women in the Mughal agrarian society was
significant.” Explain the statement giving examples.

OR

(b)  “The Ain-i-Akbari is an extraordinary document of the Mughal
Empire.” Explain the statement giving examples.

SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that follow :

1+1+2=4

Declining a royal gift

This excerpt from a sufi text describes the proceedings at Shaikh
Nizamuddin Auliya’s hospice in 1313 :

I (the author, Amir Hasan Sijzi) had the good fortune of kissing his
(Shaikh Nizamuddin Auliya’s) feet ... At this time a local ruler had sent
him the deed of ownership to two gardens and much land, along with the
provisions and tools for their maintenance. The ruler had also made it
clear that he was relinquishing all his rights to both the gardens and
land. The master ... had not accepted that gift. Instead, he had lamented:
“What have I to do with gardens and fields and lands ? ... None of ... our
spiritual masters had engaged in such activity.”

Then he told an appropriate story: “... Sultan Ghiyasuddin, who at that
time was still known as Ulugh Khan, came to visit Shaikh Fariduddin
(and) offered some money and ownership deeds for four villages to the
Shaikh, the money being for the benefit of the dervishes (sufis), and the
land for his use. Smiling, Shaikh al Islam (Fariduddin) said: ‘Give me the
money. I will dispense it to the dervishes. But as for those land deeds,
keep them. There are many who long for them. Give them away to such
persons.”

61/6/2

(31.1) What did the ruler offer Shaikh Nizamuddin Auliya ?
(31.2) What reason did the Shaikh give for refusing the land deeds ?
(31.3) How does the response of the Shaikh reflect the Sufi values ?
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X e
32. AU E I emgEes ufey I 39 A fau 1T F & I Y ; 1+1+2=4

ATecTshadl sht el

ATCAHRER o6 T4 hl TFSAT o TE oI HIcTTehaht o TSI gHad (8e o dad 7=t
e ek fofam o | foisie o N eea Tl 4 Uoh SIS STHer i TTe a1 31N 3d
T T T TG o7 | 36 STHER § SRR AT H &a= 148 o Fal foh AT,
3ATT T&oh o AT SHI 9¥1 § 31T 3TN I SN TSI hl ag f3aT | 3119 STher) 1
ue R -t & ST & mifcree i sifer s § | T € e § ST 3 et
T STHIA e B A | H <9 T | TR ST SATIeRT S aed X 8 T | 9 o |
H9eh REeATh 33 @ BT | 9 ST HL 0T 1Y, T 310 Faife fopam o | H Srosh
ST 9 & | Afeh 3791, 37a1 & 370 faTieai 1 <ot Tas ST 38T § QTfoh TT9eh! a%

Y TIE Hh |

(32.1) Ta=d T8 = TSI ok T STIAT STEHAN hdl e TohalT ? 1

(32.2) &A= féE 7 vifir & AT ford et 2 1

(32.3) A= T T H ATCAHAR shl WIHTSAT i ¥ G © 2 2
33. fumuEE H eAgEes afey i 3wes e g e et & s i 1+1+2=4

AT <hT AT
So i frEew 4 Hud e % 8 a¥ Q@ Ry @l 3w Rl
(ST Tearelt Igrar) W forsrr ST 1 |
26 AT o b [ShTRAd fofarm T, Wep e #i TTT 371 368 i ST sht 7 &5 |
AT T ITHT AU Tl o TE QAU 7 o e ST, 9V o T 3R 9V
YR H G UL |
T} AT o oI ST st forsia T gT=amam © |
I o g 7% 9ga deerl iR e ¢ for 5o &1g forelt Tsar  fasr e
LT & I ST TS T & BT &, J&T T AR ST &, ki fohe sima € |

(33.1) TSIT QAT foRreeelt it shfcht foasmr 9 3 3meA & gfSeniv &1 foha TR

EEIECREDI R 1

(33.2) e forsr 3 ST o Ui TS & SR Al fohdt TehI sraet feam 2 1

(33.3) TSI o Uiad 3 & & TOR ! forg e 31Tehm fea 2 2
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32.

X e KX

Read the given source carefully and answer the questions that follow :

1+1+2=4

What taluqdars thought

The attitude of the talugdars was best expressed by Hanwant Singh, the
Raja of Kalakankar, near Rae Bareli. During the mutiny, Hanwant Singh
had given shelter to a British officer, and conveyed him to safety. While
taking leave of the officer, Hanwant Singh told him:

Sahib, your countrymen came into this country and drove out our King.
You sent your officers round the districts to examine the titles to the
estates. At one blow you took from me lands which from time immemorial
had been in my family. I submitted. Suddenly misfortune fell upon you.
The people of the land rose against you. You came to me whom you had
despoiled. I have saved you. But now — now I march at the head of my
retainers to Lucknow to try and drive you from the country.

33.

(32.1) How did Hanwant Singh express his dissatisfaction towards the
British ?

(32.2) Who did Hanwant Singh refer to as “the people of the land” ?

(32.3) How did Hanwant Singh’s statement reflect the sentiments of the
taluqdars ?

Read the given source carefully and answer the questions that follow :

2

1+1+2=4

The Anguish of the King

When the king Devanampiya Piyadassi had been ruling for eight years,
the (country of the) Kalingas (present-day coastal Orissa) was conquered
by (him).

One hundred and fifty thousand men were deported, a hundred thousand
were killed, and many more died.

After that, now that (the country of) the Kalingas has been taken,
Devanampiya (is devoted) to an intense study of Dhamma, to the love of
Dhamma, and to instructing (the people) in Dhamma.

This is the repentance of Devanampiya on account of his conquest of the
(country of the) Kalingas.

For this is considered very painful and deplorable by Devanampiya that,
while one is conquering an unconquered (country) slaughter, death and
deportation of people (take place) there...

61/6/2

(33.1) How did king Devanampiya Piyadassi’s conquest of Kalinga

influence his approach to governance ?

(33.2) How did Kalinga’s conquest change the king’s actions towards his

subjects ?
(33.3) How did the king’s transformation shape the spread of Dhamma ?

1

1

2
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QU
(ATATI-STTeTiE T97) 3+2=5

34. (34.1) WRA % U TSI TET-AHT (T8 23 W) H, fefaRad = g Fah
T sifor iforg 3 37 19 faRaw - 3x1=3
() IA — Teh faenidd ST TIA
(i) STt — otg Toe
(iti) (F) TR — e o oTefT &t
arora
(it) (@) OHd — T o T &

(34.2) WRA o 3T TSR ET-AHRE W 1857 o 2R fsifest f=mor o aqefia ar
TIHT BT A 3T B & 3iferd foram mam 2 | $7eh! veeie ST 3K 37 a8t

AT 37k feRe Wit 71 et W fafaw | 2
e :  AEfiad T Faa greaiea genforay & fo7g o7 §&a1 34 % T W e |
(34.1) TSI H Ueh UNa ST ¥ T e HIfT | 1
(34.2) 3T YW TST | Ueh allg, €A T AT ST | 1
(34.3) (F) I WRA o Torell Toh &1 ohT Ioci@ shifSIq ST HITAT o6 T 3 o | 1
EPE

(34.3) (@) T 9RA o forel! FEwerqul 7R T AT S1a1sy | 1
(34.4) S TAMI o 1 FATST ST 1857 o &R foifest o frmord o | 2
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34.

Note :

61/6/2

X e KX

SECTION E
(Map-Based Questions) 3+2=5

(34.1) On the given political outline map of India (on page 23), locate
and label the following with appropriate symbols : 3x1=3

(i) Lothal — A Mature Harappan site

(i1) Amravati — A Buddhist site

(iii) (a) Agra — A territory under the Mughals
OR

(iii) (b) Panipat — A territory under the Mughals

(34.2) On the same political outline map of India, two places which
were under the control of British during 1857 have been marked
as A and B. Identify them and write their names on the lines
drawn near them. 2

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention one mature Harappan site in Gujarat. 1
(34.2) Name one Buddhist site in the state of Andhra Pradesh. 1
(34.3) (a) Mention any one territory which was under the control of
Mughals in Northern India. 1
OR
(34.3) (b) Name any important town of ancient India. 1

(34.4) Name two places which were under the British control during
1857. 2
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For question no. 34

WA T IW@T-THE (TR )
Outline Map of India (Political)
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